PART One : (15 pts)
‘.omprehension :(08 pts.)

T

Reaci the text carefully and do the activities.

Hnwever,necessitv is not the cause of alj child labour,thousands of french youths work in farms
very summer because they enjoy the festival-|j

j ST 4
money to buy a car. - %3

Adapted from" Newsweek.Apr.2003."
1-The text is about : a- Children and theijr decent living coornditions.

b- The employed children, Y.

C -Violations of children’s rights.
2-The text is taken from: a-An Internet website.

b- A magazine L.

¢- A history book. g
3- Are these statements True or False ? -

a- Children are working in dangerous conditions, ' |
b-  Children don’t yield the same Productivity as adults,

C- Al the children throughout the world work to feed their families,
d- Working children dare complain to authorities.

4 In which § is it mentioned that «
themelves. » |

Working children sacrify their health to feed their families and
3+ Ans wer the following questions according to the text.

@ How are the working conditions of children ? Give at least two examples.
9- V/hy are some children obliged to work ?

2~ Why do some companies prefer employing children ?

o




E- Text exploration :( 07 pts.) -
1- Find in the text words/expressions that are closest in meaning to the follow.ing.

- 4-Rew ite sentence (b) so that it means the same as sentence (a).
1-a-The cries of working children were heard by all people all over the world.

a- Jangerous:( §.2) Re: b-similar : ( §.3)
2- Findin t!-ne text words/expressions that are opposite in meaning to the follow'ing.
a-Die=/= ( ‘§-2) YN AV b-Higher =/=(8§.3) (e, “on
3-Con plete the following chart as shown in the table. G 8
V‘-'"z : - Noun B Adjective : ¥
o= g:to e:tlmate Estimation Etimated/Estimak le : }
~TO S irrender MM S Vi : |

e sk e cesemmaesas s ONCA Surrendered/surre ndering
% Poisonous -}
e ....,.i | _; II:ISI( Risky 11

LLTTY PUTRTTY TN S S ECESSitY NECBSSEI'Y 1
5- To produce Production/Productivity e DGR € |
6__ To‘fork work = -.m.-.- i‘“iljifh.lﬂi:llﬂl

I

b-All people ..ot "
z_a ‘Companies Emplﬂy Ch“dren Sinc§ ggvernment dnn’ contrOI t;;;;::“."uuuu""-""uuu
3 E": E;-;];uct;;:nun-::uun-u‘ﬁludu;"ﬁ;}: e -cmnisté‘uwj:l h;*',l. ﬂ ]D LA i‘“. @ A %‘l
B Panies employ children in your country ? i ; E cnj
ti-The journalist I"\M:tuum IR oo V ..... ol e g :
>-Classify the following wo ds according to the pronunciation of their ﬁnalﬂed » --------- ‘
Aged- employed—provided—carri ed—worked—estimated
?!j

o,

- /t/ /d/ — Jid/

Part {wo :Written expression.( Choose one of the following topics.) (05 pts.)

Teopiccne :

Scme children have to work and can’t g0 to school.They do hard jobs.They are

overwcorked,underfed and underpaid.Use the followi o Wri
- owing not rt
situations in your hometown. g notes to write a short essay about such

~failure at school—poverty—most of them work i
i in cafes/Restaurants/Agriculture...etc—th
$ald-—-i hey lack safety measures and their future is precarious. & e
opictvo:
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- Bac Blanc.
i Part one :Reading.( 15 pts.)

A-Comprehension :(08 pts.)

UBJECT TW 2014—2015.

Read the text carefully and do the activities, ”

T e ol

Scientists announced last night that they

| permanently-manned lunar base.

(| of liters of water.

—_——— S i e e —— e L . B e T - — -

2-Are these statements TRUE or FALSE ?

|| from a spacecraft that was deliberately crashed into a lunar crater |ast month.,

The researchers said the evidence for the existence of significant bodies of water
| craters on the moon is « definitive » and that the total quantities could be big enough

|| of water might be possible and then only in trace amounts.

One of the unsolved questions is how the water could have got to the Moon. One theory
I on a comet and never evaporated in the shaded polar craters where temperature is minus (- 220 C°).

NASA estimates that there are 12,500 square kilometers of permanently-
and if the top one meter of this area were to hold just 1%

-The text is :A-Narrative. B-Descriptive. C-Expository.

had buckets of water on the moon follwing tnalvsis of data |

ice hidden in polar
to support a

is that_it arrived

shadowed terrain on the Moon
by mass of water ,this would still produce thousands

1-Circle the letter that corresponds to the right answer.

D-Argumentative.

a-Scientists announced the existence of water on the moon.
b-Previous studies suggested that water might exist in abundance.
¢-One of the mysteries is how water could exist on the Moon.

d-Due to the warm climate the water never evaporated.

3-Answer the following questions according to the text.

b-How could water get to the Moon?

Moon”.

a-They (§.1) b-It ( §.4 )

T T me——
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5-Who or what do the underlined words refer to in the text ?

a-How did scientists get buckets of water on the Moon?

4 -In which paragraph is it mentioned that “ scientists have already studied the problem of water on the

c-Where ( §.4)
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* B-TEXT EXPLORATION:( 07 pts.)

1-Find in the text words whose definitions follow. a-A Set of facts or information about something :( §.1) b-A
large hole in the ground or in the top of a volcano (8.1)

2-Find in the text words that are opposite in meaning to the following : ‘
a-Recent =/=(§.3) b-Temporarily =/=( §.5)

3-Divide the following words into roots and affixes.( affix =prefix+suffix.)

-Unsolved —permanently —categorical—possible.

P refix | Root Suffix -

4-Rewrite sentence ( b ) so that it means the same as sentence (a).

1-a-« Was it possible for man to settle on the Moon ? » He said.
b-He wondered

lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

T 1 =T
3-a-If there was water on the Moon, people could go and live there.
bprowdlng( 5 ¢ - o) P S
>-Complete the following chart as shown in the example.
Verb Noun Adjective N
e.g .To estimate Estimation Estimated/Estimable.
D iainisees Analysis Analytic/Analytical.
ittty Significance/Signification | Significant/Significative. :
3-To exist Existent/Existing.
4-To solve Solvable/Solved.
5-To produce Product/Production ;
6-To categorize Category |
6-Fill in each gap below with one word from the list =
-Repair—Spacecraft—Astronaut—Stop—Space—Workers.
Walking in the ................. seems like an exciting job ;but astronauts called space walkers the
construction workers of outer space.When an....wmvmvinon.. goes outside of his....................... .itis usually to
build or.............cc........s0mething outside of the spaceship.

7-Classify the following words according to the pronunciation of their final « s ».
-Studies—Traces—Amounts—Bodies—Crashes—Estimates.

«s» Kz «1Z »

Part two :written expression.( 05 pts.)-Choose ONE of the following topics.

-Topic one :Using the notes below, write a composition of about 100 to 150 words on the following :Can man
one day live on the Moon ? Say why ?

-Absence of heat energy and light energy.-Not enough water.-Not enough oxygen.-No interesting places to
visit.-No amenities—No entertainment—No means of leisure..etc.

-Topic two :Children’s rights are violated incessantly in most countries in the world. We still see children
aged between 10----16 working under miserable conditions instead of going to school to study. In this

regard,write a short essay about the basic children’s rights guaranteed then suggest some solutions to such
malpractices towards children.
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